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Unix shell =®d 1
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Unix shell =®d4
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8-l.c V=707 7 L

#include <stdio.h>
#include <math.h>

#define PI 3.141592653589793
#define MAX STEP 100
#define MIN THETA 0
#define MAX THETA 4
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DO

int main(void)
{
int i, 3J;
double step, theta;

step = 1.0/MAX STEP;
for (i=MIN THETA; i<MAX THETA*MAX STEP; i++)
{
theta = PI * 1 * step;
printf ("%$1f¥t%1f¥n", theta, sin(theta));
}

return (0);
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gcc -1lm -o 8-1 8-1.c mYAC 1Y

./8-1 > data.txt
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8-2cY—XO—K chEzAD

#include <stdio.h>
#define NUMBER 10

int main(void){
Int 1;
int seisekilNUMBER];
double sum=0.0, ave = 0.0, sigma2 = 0.0, sigma = 0.0;

for (1=0; i<NUMBER; i++){
printf(" %d-th point 7" 1);
scanf("%d", &(seiseki[1]) );
)
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e =
for (i=0; i<NUMBER; i++)

{

sum = sum + seiseki[i];

}

ave = sum/NUMBER;

for (i=0; i< NUMBER; i++)
{

sigma2 += (seiseki[i] - ave)*(seiseki[i] - ave)/NUMBER;

}

sigma = sqrt(sigma2);
printf (“¥n”);
printf("average= %1f¥n",ave);

printf("standard deviation= %1f¥n",sigma);

return (0);
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gcc -Im -0 8-2 8-2.c
UNIX®DshellOtge, U1 LIV K~ T<, Z{F> T,
THEANDS “seisekil .txt”, “seiseki2.txt” & TN
FtEXD

./8-2 < seisekil .txt

LUTORICHEASNTWSBIZEES5M?

O-th point ?1-th point ?2-th point ?3-th point ?4-th point ?5-th
point ?6-th point ?7-th point ?8-th point ?9-th point ?

average= 2.500000

standard deviation= 1.500000
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“seiseki2.ixt” ZEArAFEERIFES DI SN ?

./8-2 < seisekiZ.txt

LUTORICEASNTWBEES5H)?

0O-th point ?1-th point ?2-th point ?3-th point ?4-th point ?5-th
point ?6-th point ?7-th point ?8-th point ?9-th point ?

average= 5.000000

standard deviation= 0.447214
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Hint!:
BEANSEMOBE ZHZHAATEDZIDIE
scanf(“%d %d %d”, &(a[0]) , &(a[1]) , &(a[2]));
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#include <stdio.h>
#include <math.h>
#define SIZE 3
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int main(void)

{
int a[SIZE][SIZE];
int i, 3J;

for (i=0; i<SIZE; i++)
{

printf("%d-th columns of matrix A", i);

scanf("%d %d %d", &(a[i][0]1), &(a[i][1]),

}

printf("¥n matrix A = ¥n'");
for (1i=0; i<SIZE; i++){
for (j=0; J<SIZE; j++){
printf("%d¥t", a[i][]]);
}
printf("¥n");
}

return (0);

&(a[ill2]));
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gcc -1lm -o 8-3test 8-3test.c
./8-3test < matrixA.txt
EULTEITLTHELD

SRITHER

0-th columns of matrix Al-th columns of matrix A2-th
columns of matrix A

matrix A =

1 0 1
0 0 0
1 0 -1
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matrix A+B =

1 ] 0

1 0 1

0 1 -1

matrix A-B =

1 -1 2

-1 0 -1

2 -1 -1
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